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1 80 e

lim (secx — tanx).
x=-n/2

xl_i)rrgz(sec X—tanx) (co—o)form
i (l—sinx) (0)
=lim = | form
x->X\ cosX 0
2
. (=
1-sin| =+ 2
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~— N—x n— "

Sol. lim (=D (?n +9)
n—»w n-
n(l—l)n(z.}.é)

= lim n n [ 1im—=0}

n=»c nz n—wo y
=1im[1-l](2+_3_):1 52

n—-w n n

CONTINUITY

Very Short Answer : [1 Mark]
. ® . . 2X i 1‘ & & O
Discuss the continuity of the function fx)atx=0if f(x)= :

[CBSE 2002, 1m]
2x+1,x20
Sol. For the given function f0)=2x0+1=1
£(0*) im £(x) = lim(2x+1) =
Ay x—0"
f(0) = ]il'(f)]_ Ex) = ]in01_(2x -1 =-1
Thus, f(0) = f(0*) = £(0") (1]
f(x) is not continuous at x = 0
{ [sinx | S0
1)/ Examine the continuity of the function : f(x)= X al =0 [CBSE 2003, 1M)
' Sl 1S x=0
[sinx
SR & R :
[sinx | o X : 3
Sol. f(x)={ x = HaX.=0
1 , x=0, ~smx“ < <o
I X
Now f(0)=1
Also LHL. = lim f(x) = lim-21% _ _; i
x—0- x—0- X 2
Since L.H.L. # f(0) [1]
£ is not continuous at x = 0
SHORT ANSWER : [4 Mark]
x2 =25
, when x#5 . .
12. If f(x)={ x-5§ 1s continuous at x = 5, find the value of k. [CBSE 2007, 4M]
k , when x=5
68 o}
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Sol. f(x) is continuous at x = 5
lim f(x) = lim £ (x) = £(5) i) [
h z
‘ x:)_ E) 25 {hb) Qh o ’.1 a ﬂ = Q’y
11_)n51 x—5 b A 2
= }LT(HS) k = 54+5=k [l
=10 (1]
g
13///{ the relationship between 'a' and 'b' so that the function 'f’ defined by :
P ax+1, if x<3
(V=1 pxa3 it xo g iScONtinuOUS atx =3 [CBSE 2011, 4M]
Sol. f(3-h)=3a+1 (1]
& f@B+h)=3b+3 (1]
Now, f(37) = f(3)
= 3a+1=3b+3 [1]
= 3a-3b=2
2 :
[1]
3ax +b if x>1
e function f(x) = 11 ifx=1
2 " |5ax—-2b ifx <1
g ° 1
é is continuous at x = 1, find the values of a, b. [CBSE COMP. 2012, 4M]
% Sol. We are given that fis continuous at x = 1, therefore, \
% Lt f(x)=1(1)= Lt f(x) = Lt (Sax-2b)=11= Lt (3ax+b) [1]
; x—1" x—=1F x—1" x—1t
i
? = Sa-2b=11=3a+b = 3a+b=11 (1) [1]
g = Sa-2b=11 (i) [1]
Solving (i) and (i) for a and b, we geta=3,b = 2, [1]
! 1+kx —+/1-k 8
; = \/7 3 \/ . = if —-1<x<0
MW value of k, for which f(x) = S i continuous at x = 0.
A - if 0<x<l
! x—1
3 [CBSE 2013, 4M]
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Sol. f(x) is continuous at x = 0
So RHL = LHL = f(0)

f(0) = = -1
O =5-=

RHL = iirr(}f(0+h)=1im

h—0

J1+kh —v1-kh
h

(I+kh)-(1-kh) 2kh

=I1m
h0 h(y1+kh +vI—kh) "0 h(/1+kh +~/1-kh)

2k
=

e f(0) = RHL = k = -1

k

ol. f(x)=|x|+[x-1|

1-2x -1<x<0
f(x)=11 0<x<1
2x-1 1<x<2

(1]

(V2]

(2]

[Va]

/Discuss the continuity and differentiability of the function f(x) = [x| + [x — 1| in the interval -L2).

[CBSE 2015, 4M]

The possible point of discontinuity and non differentiability are x=0and x = 1

(i) We have to check cont. at x =0
RHL, = lir‘r)1+ f(x)= lirB i=1
LHL = lir(r)l_ f(x)= lirg[—Zx +1=1
f0)=1
So RHL = LHL = f(0)

function is cont. at x =0
(ii) We have to check cont. at x =1

RHL =lin|3f(x)= lirg2x—1=l

LHL =lim f(x)=lim1=1

X" x>
J(H=1
RHL = LHL = (1)
So function is continuous at x = |
(iii) We have to check differentiability at x =0

h—0 h
1=l
= fn

(1]

(1]

70
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~h
) ; A =
— liln;(_h)_-,__l_l_z
h—0 _h

RHL # LHD

So f(x) is not differentiable at x = 0,
(iv) We have to check diff. atx = |

h—0 h
:lim[2(l+h)~l]—l "
h—0 h
LHD =lim /=0 =/

h—0 _h

. 1=1
=lm——=
h—0 __h

RHD = LHD
So f(x) is not diff. at x = 1

LHD =lim
h—=0

2

® ;
sin(a+1)x +2sinx

, x<0

o &)

L X

Sol. f(x)is continuous at x = 0.

So RHL = LHL = £(0)

REL =Jim Ni+bx —1
x—0" X A
. Al+bx -1 +1+bx+l
=1 : X
x—0" X J1+bx +1
(1+bx)-1 _b

iy O " o
=0 x[J1+bx +1] 2

e sin(a+1)x b 2sin X
x—0" X X

= lim(a+ I)———-———an(a ) +2lim LA
x—0° Csinfa+1)x =00 X

@+1)+2=a+3
f0)y=2

b ,
—=a+3=2
2

a=-landb=4

(1}

(1]

, X =0 is continuous at x = 0, then find the values of a and b.

[CBSE 2016, 4M]

[1%2]

[1%2]

[va]
Vs

71
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DIFFERENTIABILITY & DIFFERENTIATION

Very Short Answer : [1 Mark]

/ [1-si
%= M,showthat ﬂ+secz I':——x =0.
[+sin 2x dx 4

Sol. y = I-sin2x _ |(cosx —sinx)?
I+sin2x | (cosx +sin x)?

COSX—sinX ]—tanx P
=" = = o
COSX+SinX |+4tanx wan A

Diff. w.rt. x

dy T

i — 2 o
iy sec (4 x).( 1)

d .
=5 —)—I+ sec{%—x): 0

Differentiate tan™' [l L6 x:‘ W.L.L X.

sin x
Sol. Lety = tan! [1__00“]
sin x
2sin2 > N
= tan™ —-——'—2— = tan"'(tan—)z—
2 2

2sin i(*cosi
2 2

Short’Answer : [4 Marks]

2 _ 7
My=tan"lr‘/l+x Vi-x J,ﬁndd—y.

N

[CBSE 2002, 1M]

(1]

[CBSE 2002, 1M]

(1]

o SHEET OVl Comuniny Demreiaisling & Dersrs o \Eng\ 07 Carsi D & Dfrmrsicsion pd3

Sol. Here,y=tan"[\/l+x2_\/I_XZJ ;
VI+x2 +4/1-x2 !

Put : x>=cos0 i

§

| sty \/1+C089—\/1—COSG:, ;
i J1+cos8 ++/1-cos® [1] i

72 E

Scanned with CamScanner



\ficosg—ﬁsing
tan”' 2 2
\/icos9+ 2sin~9
L 2 2
| —tan —
=tan”' g =tan™ [tan (E_QJ:l [1Y4]
1+ tan — 4 2
L 2 ‘
e IS S S S
"W A
Diff. w.r.t. X

Al Ay
- T Cph i [1%4]
2 Ji-x* V1=x*
2
y = 3e* + 2e*, prove that _(1_521_591_'_6), =0 . [CBSE 2007, 4M]
dx dx
Sol. Herey = 3e2* + 2e¥
gy 3e**.2+2e™.3 ; ) il
dx
‘d—y’ = 662’( + 663' . 3 [1/2]
dx
2
Now, d—l =6e**.2 % 663‘ 3 : 4
"1 dx? 3
! 2
: d—%— 12e> + 18¢™ - V4l
% dx
2 d2 d .
; LHS = —X-5-2+6y
dx” dx : =
= (12e* +18e™) - 5(6e* + 6e™) + 6(3e* + 2¢*)
— 12 + 18e™ — 30e>* — 30 e™ + 18e + 12e*
. _ ,
§ =30e*+30e* - 30e2’ -30e* =0 [1]
g

: [5”12\/1 x} iy Ll
e .

=

5x+12 1—x2]

1 Sol. y=sin™
| oty 201

2]

Letx =sin@ =0 =sin”'x

| ot Sin_lliSSinB+12,/1—-sin29j|

13
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N

R = A ST ST S A Sl S S =

—

13

e . 12
=sin™'| —ging+-—=
[13 13cos@

]

5
Letcosa=—7 = o= cos—' .

sma_\/l cos a—,f —%_‘}16 B— 4 o (1]

y =sin"'[cosasin® + sinctcosh]

=sin™ (sin(a+0))

y=a+9

5
y =cos™ —+ sin"'x

13

Differentiate w.r.t. x, we get

dy 1

—-0

1

%

=

Jlx

[*4]

[1] _/

/ [1]

)91%"— cose+log tan g) and y =asin0, find the value of ;iy at 9—;:_ [CBSE 2008, 4M]
3 0 & X=0(tost *wj 4onty 8= aSinf.
Sol. x =a| cos6+logtan— =il \
: o\»«“>“lw
dx sin 0+ sec? i1 A 4l
B Py X + y
i 44 <= o twt 6 g
d_" a —sin6+coS ! ! - V4] ;
do sin coszg 2 3
£ 2 } .
dX l \ H
—=a|—sin 0+ —m———
do 231necosg j
2 2 [l i
dx [_ !
= =gl -sinB% 5
0 al —sin i ] v
d_x__ F—sm 9+1:| :
d [ sin0
g)_(__acos 0
do sin@ [val |
Now y = asinf
L
40 acos ]
74 £
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] gy_:dy/d(): acos0
dx dx/d0 acos’0
sin®
dy _sin® V2]
dx cos@ g
d_y) e (2]
(dx Mi—tan4 e '
T .y dy ' sin*(a+y) 2009, 4M]
24, _Msiny = xsin(a + y), prove that o e [CBSE ’
A ax sina
/ mry=xsinacosy+xcosasiny
d . ‘, N d
OTCOSYE))‘:-=Smacosy-—x’sir}as}n yg—y+cosasiny+xcosacosyﬁ- f wa (1]
. " ” )
{':c,‘_[ : PV /(qu/t—/
K5 [cos y +x (sin asin y — cos a cos y)l=sinacosy+cosasiny (1]
or a[cosy—xcos (a+y)]=sin(a+y) ‘ £2)
dy sin*(a+y) 1]
B : ‘
dx cosysin(a+y)—sinycos(a+ y)
sin(a+y) siny
=7 X=——
sina sin(a +y) 04l
f (cosx) = (siny)", find :_Y. [CBSE 2009, 4M]
X
£ Sol. (cosx)’ = (siny)*
i taking log on both side.
or ylog (cosx)=x log (siny) V2]
3 or Y (L](—sin x)+ log(cos x).gl
3 COS X o dx
H 1 dy : : ‘
§ = x——cos y—+ log(sin :
i siny 4 dx BB Y) (1l
L
§ , dy
: or >y tanx +—logcosx
dx
dy bl s
I=5;-b?cot y) + log(siny) (4]
; or gl(l og(cosx)—x cot y) :
4 X
. =y tanx + log (siny) m
dy _ Ytanx +log(sin y)
dx  logcosx—xcoty (1]
E = —
75
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' 2
2 show that (1 _XZ)S_%_uiil.,y:o
X

dx

[CBSE 2009, 4M]

1-x
dy 1 xsin™' x [1]
dx 1-x* (1-x?*)"?
et U 4]
I-x* 1-x?
or (1 Xg)ﬂ =]+ yX i [1/2]
dx
d’y d [1Y4]
00 Sl %2V S et e DY, 2
dxz( X )+dx( 2X)=x—=+y
J-x) 3x—d—y—y=0 72l
d
fy=cost|SRtAVI-x* | oy dy [CBSE 2010, 4M]
5 dx
, 2
Sol. y:cos" [3)(_*':4_1—_)(]
5
Letx =cos 0 ; 0 = cos™'x [Y2]
y=cos"[gcose+§sin9] Vil
3 4 ‘ :
Let cosé == and sind=— 3
' ¢ 5 ¢ 5 ' 3
y =cos™'[cos (0 - §)] : [
y=9—¢=cos"x—cos“§. R [1] ;
dy 1 . " el
dx 1—x? (11 §
1
If y = cosec™ x, x > 1, then show that x(xz—l)ﬂ+(2x2—l S :
y= sl o )E—O [CBSE 2010, 4M] :
Sol. y = cosec'x ]
putting x = cosec 0. 3
= y=6, )
I
= 4o o
dx :
49 = —cosec O cotO i
76 E
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o __sin’@
dx cosecOcotd cos0 e
dly —(c0s02sin Ocos Q +sin’ G) -1 ]
dx’ cos* 0 cos ecOcot O
d’y _sin0(1+cos’0)sin*@ _sin® 0(1 + cos 0) V4
dx’ cos’Oxcos®  cos0
) 2 )
L.H.S. =cosecH (COt?'e) X ol 9(1 'i';COS 9) +(20()sec29—1) -, sin” 0 [1/2]
cos’ 0 cosO
[+c0s*0) (1+cos?
o 9 _(+cos 6)=0 B (1]
cos 0
1 2
X = tan (—log yj , show that (1 + xz)fl_{".,.(zx _a)ﬂ =0 [CBSE 2011, 4M]
a dx* dx
- Sol. Wehave, x = tan(llog y)
a 72
- 1
= tan”' x = ;108 Y = atan™'x = logy (1]
Differentiating w.r.t. x, we get
a _ldy
1+ 1
i 1+x? y dx = i ) )
é Differentiating w.r.t. X
i d? dy dy
g l+xt)—L+2x =gl [
o R |
i X
3 d’y dy :
e @2x-a)—==0 (1]
} +x)dx2+( X a)dx
{ ‘ :
dy log x ,
' If e~Y, show that —=——"—. CBSE 2011, 4M]
// dx  {log(xe)}’ " @e"@
Sol. We have, x¥ =¢e*?
i = efgm=ex-yY = ylogx =X-Y " [1]
= ylogx+y=x= y(+ logx) = x [val
2 .
= 21
=g 1+logx ’
On differentiating both sides w.r.to X, we get
E 77
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8wt ' TE TP TJIE_ " he ' TP "'Ee | \J ( % by Nl " S Ly ST e ‘ A2 ‘I;v’.ln"l’., ,;;”r'r',,r";;r{:::':__'}."f", ";!;f' .’.:';-‘7.' '__-r;:-;
Sl B A A s A M A —

(I+log X)-l~x.[()+ : )

X

d
dx (I+log x)*

_ logx
(I+log x )

_ logx
[log(ex)P®
=yt Y = Va® 't show that d—y =1
dx X

//
- Sol.

Given p /a.-.in"t Yy = a“’_'t

s
—sin”"

bl
i€, x=a%2" gand y=qa2""
dx_ —sln'll (l T
dt = ogaa—t Esm t)
' ( l \ %sin I(l d
=s a oga > cos”™
= a logak ¥ En zg and L = a2 l]oga-d—(lcos" t)
21—t J 241-t d deh2
= 4 ogal ) o
2i-¢)= o
—l-oos'l
: dy  dy/dt -a?
=) e —
dx - dx/dt %sin"l
a
l(::os" t-sinz'1) \f acos"l =Y.

Sol. Lety = tan™ (_._\“”2_1) . Putting x = tan@, then
X

g _l(sece—lj & _l(l—c;)se)
Y =@ g 4 = sin0

(

= y=tan’

2sin2—9-.

N D
]

2sin —cos—
S

(1]

[CBSE 2012, 4M]

(1]

(1]

[CBSE 2004, 2012, 4M] f
1
g

(1]

[1] |

78
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/ ?
il

Pudd 0 Seesss

= v:l'm“‘(lﬂno) <20 & S
\ d ‘ 2 = 7 = Elan X []]
dy _If 1
riat fre o
- : , n dx  d’ d’y
33, /1f x = a(cost + tsint) and y = a(sint - tcost), 0 < t < =, find —5-, =L gnd o,
2 T dx
[CBSE 2012, 4M]

Sol. x=a(cost+tsin t),y;(sint—tcost)0<t<n/2

- / / -
tdx ) o g
1_—5172 af —§ln t +_;_m t + tcos t] |
dx
¥ (608 S, Eben i s (i) , [/
d? < i
_c_l;;: afcost—tsint] 7]
and y = a(sin t — t cos t) /
\
gy—: a (cos t —cos t +tsint)
dt '
i atsint SRR (i1) 2
2
” i—;: a(sin t + t cos t) (V2]
dt
| Yy _dy/dt_aSME_ e Using (§) and (i) (1)
‘ dx dx/dt atcost
1 2 1
- d’y E 1 = g—%:secztx g 3 (1]
(dx /dt) dx atcost atcos’t
: i dzy T
i < acos%0"and y = asin’6, then find the value of -5 at O [CBSE 2013, 4M]
. x =acos’0 ; y = asin’0
1 ot nO, - - am ) el
1 do
Y sagintBeosl |+ ¢ anin (ii) vl
do
from (ii) / (i)
B 79

- Scanned witﬁ CamScannér



Mathematics
dy 3asin’Ocosd
—=——————=—1anf
dx -3acos’0sin®
E-;z—seczex—
dx” dx
S-—).(:—seclex——{‘_
dx” -3acos’Bsin 6

&)

l

D —

dx* ) 3a.cos*0.sin@

(ﬁ] St .| A
dx* Jox BY | 27
. I x)—— X—

2 2

yx =ey—x
xlogy =y - x
X(logy + 1) =

y
I+logy

X =

dx

y

|
(1+log y).]—yx;

(1+
dx_

log y)*
logy

dy (+logy)’
dy _(1+logy)’

logy

2
= ¢ 7%, then prove that dy = (l_-rl_ogi’

(1]

(1]

[CBSE 2013, 4M]

(1%4]

103 Lime. Corfenty, Ofwrarsickley A Dferorscron \Eg\02 Consi DA & ewmrdicrion paS

[1v2]
dx (logy)
y e 2x+l.3x 4
ifferentiate the following with respect to x : sin 1+ 36) [CBSE 2013, 4M]
4 x+l'3x - O
Sol. Let y = sin - 3 407 q&)
1+(36) . n
- N{\x ¥
. i<al® 4 " ghn -
Yy =sin -5 25 \{\ k @ﬂ
1+(6") %! &/\ |
put 6* = tan; 0 = tan~'6* DR
y = sin~!(sin20)
y = 2(tan"'6*) [2] !
L. S 2 6" log, 6 2]
dx 1+(36)" .
80
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A \ \ S
o ATx SN+ y) + sina cos(a+ y) = 0, prove tha . S0 04Y) [CBSE 2013, 4M]
dx sina
sal. X sin(a +y) + sina cos(a + y) = ()
sinacos(a +y) .
ok sin(a+ y) = —Sina cot(a + y) (1]
::: [sin acosec’ (a4 21 (1]
dx sina
dy sin’(a+y) (1]
dy sin’(a+y) o
dx sina
. /{:i If y = Pe™ + Qe"x, show that :: ;)_,'--(u + h)—glmby =0 [CBSE 2014, 4M]
X
Sol. fy = Le™ + Qe* ()
dy n bx \
-J-=:1Pc +bQe [¥4]
X
d " : ' .
L =aly-Qe™+bQe™  From eq. () [1]
, S .
_g_i_ - ﬂ)’ s chbx + chhx
L ay-@-bRer () [
d dy d
L AR —b)Obe™
e dx A
d’y [ dy . dy i :
e [aa + bg; —aby From eq. (ii) [1]

ol.

2
Y ity raby=0 | (4l
Xs A

’thc value of 8y at =2, if x = ac’(sin0 — cosB) and y = ac’(sin0 + cos0). [CBSE 2014, 4M]
dx 4

y = ae’(sind + cos0)
x = ae%(sin0 — cos0)
dy " dy/do

inp parametric defferentiation)  ....... (n
% GiTag o \APRARE

Now, % = ae? (cos 0 —sin 0) +ae’ (sin 0 +cos 6)
= 2ae"(cos0) ‘\. ) (1]

3—; = ae"(cos0 +sin 0) +ae’(sin @ — cos 0)
(1]

= 2ae" (sin 0)

81

Scanned with CamScanner



R R -y g A

TN A R M T A LA S A LA AT S A S T 30 T L k1455 07153

SRS

Y L o e ] 5 = g o ) L |
S N e S R e e R = e e e T T AT e e e B P58 e

el ALLEN
Ptk 1 B [EOTR AR

Mathematics

dy dx
Substituting the value of T and —in (1)

)
dy 2ae"cos®

L Y 1
dx  2ae’sin® S6to ]

dy N
Now &Y at 0= L
dx 4

[cot

'}0

iy‘:cotg:l (1]

d
L=asin 2t (1 +COs F,t) and y bCOS 2t (l —CO08 ’)t) show that att= 2:. (dyJ ” [(:[;bl< 20]4 4M]

~“Sol. x=asin2t(1 + cos2t)

: o~ o
X = asin2t +5‘2_S_l"__2£13§2,l\

dx
— =2acos 2t +ﬁcos 4t
dt 2

dx -~
5 = 2a(cos2t+cosdt) (i) o
Now y =bcos2t(1 —cos2t)
y = bcos2t — bcos2t
y =bcos2t-b H—c_os4£ R 1+cos20
2 2 )
y =bcos2t—3—3cos4t
2 2 :

- ﬂ: —2bsin 2t +il-)~sin 4t
dt 2

= %ii =2b(sin4t —sin 2t)

(1]

By chain rule

dy dy/dt 2b(sin 4t —sin 2t)
dx  dx/dt 7a(cosZt+cos4t) [1]

: ok L8
x_a T
) cosE+cos1t

1\O3 L, Corsirnsiy, Dilerpeticisiny

o\ Ervbu i\ Mg S
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(1]
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If x = cost (3 - 2cos’t) and y = sint(3 — 2sin’t), find the value of %X at t =§ . [CBSE 2014, 4M]
X |

Sol. x = 3cost — 2cos’t

dx .
= = ~3sint + 2 % 3 cos% sint

= 3sint (2cos’t — 1)
= 3sint.cos2t () (1]
y = sint(3 — 2sin’t)

< _ 3sint - 2sin’t

dt

= 3cost — 2 x 3sin’t cost

= 3cost(l — 2sin)

= 3cost.cos2t (i) (1
By chain rule

dy _dy/dt _3cost.cos2t

o deiiia = 1
dx- dxrdte 3silt cosiit (1]
dy ] i
[a‘} e ]
A 2
= a(cos 2t + 2t sin 2t) and y = a(sin 2t — 2t cos 2t), then find the -g—z : [CBSE 2015, 4M]
X

. X =a(cos2t + 2tsin2t)

(:l—)t( = a[-2sin 2t + 2(2t cos 2t +sin 2t)]

i—’:: 4atcos2t i) (1]

y = a(sin2t — 2tcos2t)

(cll_jt/ =a [2 cos2t— 2(‘—2t sin 2t +cos 2t):|

% = AT - = e S 2) 1]
By chain rule

d_y_ dy/dt _ 4at sin 2t

dx dx/dt 4atcos2t

|
|
|
i
:
;

| :—Z:tanzt _ (1]
? d%=2$¢:c2 2tx%
2
| %}(—3;:2860220(@ 5
%: %—;lz = ﬁxsec1 2t [1]
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dy ]:(x dy _}_) [CBSE 2015, 4M]

(2]

¥

==|logx -1

" [ gx og(ax+b)]
differentiate w.r.t. x ZJ

dx 1 c.a (1]

"dx =ax+b~ax V4]
X x(ax + by

'

dy bx
X—-y=

dx (ax+b)
from equation (1)

dy B Ix
s =BE N o () V4]

differentiate w.r.t. x

. dy
be''* [ x. %Y _
LIy dy dy % (x dx y) Q‘
dx dx dx x>

from equation (2)

> Titiate
x»—l-yJ [1]

2
os(a + y) = cosy, then prove that — o M. [CBSE 2016, 4M]

dx sina

1O Lt oy, Diferrtchty . Ofurartction \{ ng\02 Carei O & Olwrmrsicsion g3

2
Hence show that sin ad—Z+ sin2(a + y)—dl =0.
: - dx dx

OR

Fdd—
ind 5 -

i _,,:6:( —4V1- 4xJ

Sol. xcos(a + y) =cosy I

cosy
cos(a+y)
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dx _ —cos(a+y)siny+cosysin(a+y) 0
= —= : : =L ||y 2 |
dy cos“(a+y) & '{ L2l (/ i
. : 1.t d‘j ;
dx __ sina = dy _cos’(a+y) o i 2]
= dy cos(a+y)  dx sina LRsie
) v, ' : ttr
Hence dy _ —2cos(a+y)sin(a+y) dy £3.¢ G f'lm‘w”" o {
dx* sina “dx fuk n=Sn O, g=3n p
d’y _-sin2(a+y) dy [1=<ite +]i-<isp :Q(Sf"&-&q[t‘%z]
dx® sina dx
z wb 1O g
sina—2 &inB - sin il
2
o
oR st ( 03 e (55)
PR ! -9
yeai e 451 o ] ooy (PAD) Sa(85F)
: Cet @_—_-g_'\b =a
S|
y =8I = 2x~—\/1 (2x) :I -
3 2. .
put 2x=sin® and g—COS‘b ¢ = 2081 G,
e i 1
e 4 ing Sinh—ndly =Rt g,
=sin'2x A_xﬂufu LIDJ“( 2_
y=sin"" [sinGcos¢—cosGsm¢] . 7— )’,"1% e [
4 y = sin"'[sin(6 )] @
3 =0-¢ (ya
/jn" 2x—sin"i o r
T 5
.L ‘d_yz 1 2_0 ‘l ? /
; dX. f1 = did
S W N =
§, dx 1-4x®
g —
; 5 “NCERTIMPORTANTQUESTIONS
% = les; - 37, 41 45 (111)
L o~ 24, 26, 30
xercise # 5.1 10
! |Exercise #5.2 710.15
Exercise #5.3 ’7 1’0
Exercise # 5.4 b9 12’ 14. 15
Exercise # 5.5 == 7’11’
Exercise # 5.6 13 14’ 16. 17
Exercise #5.7 6 1,5 1;5 1:7 23
Miscellaneous Exercise =
E 85
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